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HED (3) 384cm?

(1)90x 2+ 38%x5
=180 + 190
= 370( cm?)
(2)22x2+26%6
=44+ 156
= 200( cm?)
(3) (8x8)x6
=64%X6
= 384(cm?)
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Q Agw A7} Fye,
(AS5HA ] H1]) = 8x5x 3 =120(cm?)
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> =g 15cm

Eol= 15104 3o|B2 45 LYYt}
o] F 3= v 1L = 1000 cm?®
P_E 5L = 4500 cm?® YUt
Fol2 [ Jha sh9, 10 x 30 x[_| = 4500 1 A]
300 x| | =4500,[ ]=15(cm)Qych.
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> HE: 126cm®

Ao Ru)=(7}2) x (H2) x
=6X7x3=126(cm?)
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D 3x4x8=096(cm?)
@ 7Tx3x6=126(cm?)
® 5x2x6=060(cm?)
@ 10x2x2 = 40(cm?)
® 4x4x4=064(cm?)
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(A=A e 7)) = (7F=) x (A=) x (Fel)
=20 x 12 x 10 = 2400( cm?)
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—(ZHe)-(REY Fol)x2

358 — (12X 7) x 2
= 358 — 168 = 190( cm?)
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(O9x3)x2+(9+3+9+3)x3

=54+ 72 = 126( cm?)




